
04 05

ER-I-29/AU

Klip-lok Interface for LONGLINE 305 

– Main Hook for Klip-lok Interface for 
   longline 305
– Side Hook for Klip-lok Interface for
   longline 305
– Rubber Pad  for Klip-lok Interface for
   longline 305
– Hexagon Socket bolt M8 x 30mm 
   (5/16" x 1-3/16")
– Washer M8
– Flat Washer M8

ER-IC-ST
ER-IC-ST/BA

Inter Clamp, Standard

– Inter Module Clamp 28mm (1-7/64"), 
   35mm (1-3/8"), 40mm (1-37/64"), 
   46mm (1-13/16"), 50mm (1-31/32"), 
   57mm (2-1/4")
– 28mm (1-7/64") with Hex Socket Head 
   Bolt A2-70 M8x40mm (5/16" x 1-37/64")
– 35mm (1-3/8") with Hex Socket Head 
   Bolt A2-70 M8x45mm (5/16" x 1-49/64")
– 40mm (1-37/64") with Hex Socket Head 
   Bolt A2-70 M8x50mm (5/16" x 1-31/32")
– 46mm (1-13/16") with Hex Socket Head 
   Bolt A2-70 M8x55mm (5/16" x 2-11/64")
– 50mm (1-31/32") with Hex Socket Head 
   Bolt A2-70 M8x60mm (5/16" x 2-23/64")
– 57mm (2-1/4") with Hex Socket Head 
   Bolt A2-70 M8x70mm (5/16" x 2-3/4")
– Z-Module
– Lock Washer 8.4mm (21/64")

C-U/30/46-G
C-U/30/46-G/BA

Universal Clamp for Frame Height 
30-46mm with Grounding Clip

– Universal Clamp
– Module for Universal Clamp
– Grounding Clip for Universal Clamp
– Hexagon socket button head screw 
   M8*55
– Washer 8
– ezClip Spring

ER-I-32/AU

Klip-lok Interface 406 with 
U-opening

– Main Hook for Klip-lok Interface 406   
   with U-opening 
– Side Hook for Klip-lok Interface 406  
   with U-opening 
– Rubber Pad 55*100*2 
– Washer 8 
– Hexagon socket head cap screw   
   M8*25

ER-I-09/100/45

Klip-lok Interface 400-700 with 
100x45mm plate

– Main Hook for klip-lok interface 400-
   700HS,L100*45
– Side Hook for klip-lok interface 400-
   700HS,L100
– Rubber Pad 65*100*2
– Hexagon socket head cap screw 
   M8*25
– Washer 8
– Plain Washer 8

PV-ezRack SolarRoof

ER-R-ECO
ER-R-ECO/BA

ECO Rail

– With a standard lengths of 
   2100mm (8' 4-25/32"), 
   3150mm (10' 4-1/64")
   4200mm (13' 9-23/64")

ER-TL-10/15
ER-TL-10/15/BA

Tilt Legs, adjustable 10/15 degree

– Front Leg Bracket  53.3*38.4*39.5
– Fix foot II 105*40*59.3
– L-feet 40*40*55
   Leg Strug II-220
   Leg Tube II-220
– Corrugated shim 52*32*11.8
– Z Module
– Buildex 14-11 x 70 Hex Head Zips 
   screw
– Hexagon socket head cap screw M8*25
   Hexagon socket head cap screw  M8*28
   Hexagon socket head cap screw M8*45
   Hexagon socket head cap screw M8*65
– Hexagon nut M8
– Washer 8
– Set screw M10*12
– Rubber Pad 40*25*2

ER-I-34

Universal Klip-lok Interface

ER-TL-15/30
ER-TL-15/30/BA

Tilt Legs, adjustable 15/30 degree

– Front Leg Bracket  53.3*38.4*39.5
– Fix foot II 105*40*59.3
– L-feet 40*40*55
   Leg Strug II-350
   Leg Tube II-350
– Corrugated shim 52*32*11.8
– Z Module
– Buildex 14-11 x 70 Hex Head Zips 
   screw
– Hexagon socket head cap screw M8*25
– Hexagon socket head cap screw  M8*28
– Hexagon socket head cap screw M8*45
– Hexagon socket head cap screw M8*65
– Hexagon nut M8
– Washer 8
– Set screw M10*12
– Rubber Pad 40*25*2

ER-TL-30/60

 Tilt Legs, adjustable 30/60 degree

– Front Leg Bracket  53.3*38.4*39.5
– Fix foot II 105*40*59.3
– L-feet 40*40*55
   Leg Strug II-635
   Leg Tube II-635
– Corrugated shim 52*32*11.8
– Z Module
– Buildex 14-11 x 70 Hex Head Zips 
   screw
– Hexagon socket head cap screw M8*25
– Hexagon socket head cap screw M8*28
– Hexagon socket head cap screw M8*45
– Hexagon socket head cap screw M8*65
– Hexagon nut M8
– Washer 8
– Set screw M10*12
– Rubber Pad 40*25*2

PV-ezRack SolarRoof

C-U/30/46
C-U/30/46/BA

Universal Clamp for Frame Height 
30-46mm

– Universal Clamp 
– Module for Universal Clamp 
– Hexagon Socket Button Head Screw    
  M8*55
– Washer 8
– Spring for Universal Clamp

ER-EC-DU35/40

End Clamp, Dual 35 or 40mm

– End Clamp, Dual 35 or 40mm
– Z Module (Anodized)
– Washer 8
– Hexagon socket head cap screw M8*35

ER-EC-DU40/46

End Clamp, Dual 40 or 46mm

- End Clamp, Dual 40 or 46mm
- Z Module (Anodized)
- Washer 8
- Hexagon socket head cap screw M8*35

ER-EC-ST
ER-EC-ST/BA

End Clamp, Standard

– End Module Clamp 
   28mm (1-7/64")
   30mm (1-3/16")
   32mm (1-17/64")
   35mm (1-3/8")
   38mm (1-1/2")
   40mm (1-37/64")
   42mm (1-21/32")
   46mm (1-13/16")
   48mm (1-57/64")
   50mm (1-31/32")
   57mm (2-1/4")
– Z-Module
– Hex Socket Head Bolt A2-70 M8 x   
   28mm (5/16"x 1-1/10")
– Lock Washer 8.4mm (21/64")

ER-I-09

 Klip Lok Interface 400-700HS

– Main Hook
– Side Hook
– Hex Socket Head Bolt M8 x 25mm 
   (5/16" x 63/64")
– Lock Washer 8.4mm (5/16")
– Washer 8 (5/16") 
– Rubber pad 
– Suitable for:
   • KLIP-LOK 700
   • KLIP-LOK 406
   • KingKlip
   • Speed Deck Ultra
   • Topdek 700

– Corrugated Tin feet base
– Rubber Pad 53*40*2

EZ-AD-C43

 Adapter (Puck) for Corrugated Iron 
Roof, with EPDM, for Tin Interface ER-
I-05

Splice for ECO Rail

– Splice with a standard length of 
   200mm (7/8")
– Hex Socket Head Bolt 
   M8 x 18mm (5/16" x 45/64")

ER-SP-ECO
ER-SP-ECO/BA

Tin Interface with Curved Base for 
Corrugated Roof (Z Module + Bolt + 
Universal Screw)

– L-shaped Corrugated Tin Feet Base
– Rubber Pad 53*40*2
– Z Module (Anodized)
– Washer 8
– Lock washer M8*18
– Hexagon socket head cap screw 
   M8*28
– Buildex 14-11 x 70 Hex Head Zips 
   screw

ER-I-25

Tin Interface A with ezClick connection 
for ECO-Rail

– Tin Roof Hook A
– Rubber Pad 38*38*2
– Clamp 1 for ECO Rail
– Clamp 2 for ECO Rail
– ezClip Spring
– Lock washer M8*18
– Hexagon socket head cap screw 
   M8*28
– Buildex 14-11 x 70 Hex Head Zips 
   screw

ER-I-05A/EZC/ECO
ER-I-05/CM

Tin Interface with Click Module 
Assembly

– Tin Roof Hook
– Rubber Pad38*38*2
– Main Click Module      
– Side Click Module   
– Washer 8
– Lock WasherM8*18
– Hexagon socket head cap screw M8*28
– Buildex 14-11 x 70 Hex Head Zips screw

– Main Hook of Universal Klip-lok Interface 
– Side Hook of Universal Klip-lok Interface 
– Hexagon Socket head cap Screw  M8*80 
– Hexagon Socket head cap Screw  M8*25 
– Washer M8 
– Flat Washer 8 
– Hexagon nut  M8


